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int tax=0;
foadll elemin B e o —
tax += BEFx. ¥, -
return tax;
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1f(from=>to)
pivot=data[...
left=Ffrom...
while(left...
while(data[left]...
letf++;
while(data[right]...
right--;
iIf(left<=right)

. temp=data[left];

. data[left]-=...

. data[right]-=...

. left++; right--;

. gsort(data,from,right);
. gsort(data, left,to);

WDE-20 #iEg:-16
CV=20—16+2x1=6
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Operator Num Operand Num BIE HEK =

gsort() 3 data 10 EXRDEEH n=n1+n2 26

int 4 from 5 oS LE N=N1+N2 112

0 8 to 5 BRELYE l2\1e=n1xlog2N1+n2ong2N 153
9 pivot 4 TJOUSLE V=Nxlog2n 526

{ 3 left 10 TOUSLBRE | L=Vd/V 0.034
14 right 10 REBELYHEE | Le=(2/n1)x(n2/N2) 0.019

if() 2 temp 3 JnY330498 | E=V/L 15317

>= 1 2 1 RELYKHE Te=E/18 851

return 1 Total(N2) 48

= 6 EEER(n2) 8 RUBHELGRBOTOISLE (V) 18

+ 1

/ 1

while() 3

<= 2

< 1

S - BE9—6

> 1

¥— 2

Total(N1) 64

k(G 18




